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What is the damping ratio, ζ? 

How do overdamped, critically damped, and underdamped circuits behave? 
Review 

1) Second order circuits
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a) H(s) = VC(s)/V(s) when R=10.1kΩ
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will use later( )
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b) H(s) = VL(s)/V(s) when

R=10.1kΩ
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c) H(s)=VR(s)/V(s) when R=10.1kΩ 
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2) Second order circuits TEAM ASSIGNMENT
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a. H(s) = VC(s)/V(s) when R=2kΩ
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b. H(s) = VL(s)/V(s) when R = 2kΩ
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3) Underdamped cases of the RLC series circuit
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a.) H(s) = VC(s)/V(s) when R =

1kΩ
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b.) H(s) = VC(s)/V(s) when R =

1.41kΩ
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c.) H(s) = VC(s)/V(s) when R =

100Ω
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